Kailash Vidya Vihar: Nimbahera
(1SO 9001 : 2015)

- Summer Vacation Assighments : 2019-20

Class VI Subject: Mathematics

SECTION -A (FIXED RESPONSE TYPE)
MULTIPLE CHOICE QUESTIONS :

1. The sum of which of the following is the smallest?
(A)923 + 456 (B) 701 + 632 (C) 602 + 788 (D) 513 + 998

2._ 1384 +5580 + 47218
(A)54182 (B)54178 (C)51184 (D)51178

3._ Harshita earns Rs 3500 If she spant Rs 1249 on buying earphones what is the balance of her
salary?
(A)Rs 2751 (B) Rs 2251 (C) Rs 2151 (D) Rs 2059

@ Sandhya bought 19 boxes of sweets. Each box contains 228 sweets. How many sweets

would be left with her after giving 519 sweets to friends?
(A) 766 (B)3813 (C) 4332 (D) 4851

5:1 Riddhi
(8- Ma saves Rs. 46 3 everyday. Find the minimum number of days for which she needs to
save lo get her savings as a whole number.

(A)10 (B) 20 (C)5 (D)15
6. For any integer x what is true
(A) x /0 is not defined (B)x/1= a(where x . a)
(C) option (A) and (B) both are wrong (D) option (A) and (B) both are right
[ Which of the following integer has the greatest value?
(A)—11 (B)-89 (C)-8 (D)-6
8 Evalate:5-3-5-8+13-67
(A)53 (B)33 (C)43 (D) 67
@ Simplify : |2+ =12 |~ =2+ }-101|-|-101 |
(A)24 (B) 12 (©)o (D) 22
/19_ Find predecessor of successor of - 110
(A)-111 (B)-108 (C)-112 (D} 110

1. The additive inverse of =6 is -
A)6 (B)0 -
(A) ©)-5 ©)-7

On subtracting (- €) from 0, we get :
(A)-6 (B)8 C
s (C) None of these

ﬁ By how, does - 3 exceed - 5 ?

A)-2 (8)2
( ©8 P
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:fAA and i reprasqnt two integers other than zero, then |A| + |B| - |B| - |A|
[Ci il e (B) may be positive
i g (D) must be 0

If the sum i itive i i
_ . of five consecutive positive integers is A, then the sum of the next five consecutive
integers in terms of A is -

(A)A +1 (B)A+5 (C)A+25 (D)2A

If x is an even positive inteqer and v i itive i '
dyis
o kbl g y Is an odd positive integer, then which of the followin¢
(A) (x - 1)yis even (B)x (y—-1)is odd
(C)(x—1)(y—1)is odd (D) x(y — 1) is even

Height of a place Ais 1800 m above sea level. Another place B 1s 700 m below sea level. What
is the difference between the levels of these two places 7

(A)2400 m (B) 2500 m (C) 1100 m (D) 1000 m
(=1 x (-5 x (-2)"* results in a

(A) negative integer (B) positive integer

(C) zero (D) none of these

Kanhaiya multiplied two numbers and got — 4 as the product. He then subtracted the second
number from the first and got the answer as 5 . The two numbers are
(A)2,-3 (B)1,-4 (C)-21,4 (D)5 .1

If p: when a positive integer and a negative integer are added we always get a negative
integer and g . when two negative integers are added , we get a positive integer , then

(A) Both p and q are true (B) p is true and q is false

(C) p is false and q is true (D) both p and g are false

Ashish had Rs 20 with him. He spent Rs 8 on Monday . got Rs 5 as pocket money on Tuesday.
gave Rs. 7 loan to a friend on Wednesday , ate an ice cream worth Rs 10 on Thursday,
received a reward of Rs 5 from his grandfather on Friday. How ,much does he have on Sunday,

if his friend repays the loan on Saturday?

(A)Rs 12 (B)Rs 13 (C)Rs 14 (D)Rs 9
The product of three integers are —600 . If two of them are —15 and 10 , the third integer is:
(A)4 (B)S (C)6 (D)9

A submarine left the surface of the water at the rate of — 2 metre per second . At that rate , how

ke the submarine to reach —60 metres level.
(B) 20 sec (C) 50 sec (D) BO sec

cm every second on a 60 cm vertical rod and then falls down 2 cm over
many seconds will it take to climb the rod.

long would it ta
(A) 30 sec

A insect crawls up 5
the next second. How

(A) 20 seconds (B) 39 seconds (C) 60 seconds (D) 30 seconds
|29 + |—-1D§—32| equals
(Ii?z (B)-2 (C)0 (D)4
8-[5-(-3+2):2

Evaluate: ——— = 3.
(A)2 P (:E) 3 (C)4 (D)5
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Class VII Subject: Science

PHYSICS

ACTIVITY 1. Explain with the help of an activity transfer of heat in solids.
ACTIVITY 2. Explain with the help of an activity method of convection.

ACTIVITY 3. Show with the help of an activity that sense of touch method is not always applicable to identify the
hot or cold object.

ACTIVITY4. Take temperature of your hometown during 15 may 2019 to 5 June 2019. (with the help of
newspaper, internet or TV news)

CHEMISTRY

Q.1 Explain the process of making wool from fibers.

Q.2 Name some breeds of sheep which are found in Rajasthan.
Q.3 how silk was discovered?

Q.4 Make a model of lifecycle of silk moth.

Q.5 Explain the process of getting silk fiber from the cocoon.

Class VII Subject: Hindi
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Class VII Subject: Computer

Create a Chart on Variouse Layers of Computer and its interaction. PAGE No.
6, Figure No. 1.1



Class VI Subject: English

a) Utilise your leisure time in reading English newspaper.

b) Read chapter 1,2 and 3 of supplementary reader.

c) Write down their summary and find out the question and  answers and hard words.
d) Do one page of writing daily so that you can improve your handwriting.

e) Enjoy and celebrate each moment of summer vacation with your parents, friends and relatives and
when you return back share your experience with your teacher.

f) Revise April syllabus.
Class VII Subject: Social Science

(1)Project work on The role of Govt. in health
(2)Revision of chapter -1 (History ,Civics, Geography)



